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QUESTION 1

Which industrial router platform has Battery Backup Unit (BBU) module?
A. IR8340

B. IR1101

C. IR8140H

D. IR1800 Series

Correct Answer: C

QUESTION 2

Which two pieces of information are needed to onboard a gateway device using the 10T Operations Dashboard?
(Choose two.)

A. the Product Identifier (PID) / Product Family

B. By the Media Access Control (MAC) Address
C. the Integrated Operating System (IOS) Version
D. the Purchase Order (PO) Number

E. the Serial Number

Correct Answer: AE

QUESTION 3

Which two IE switch types support the Cisco Cyber Vision sensor running on 10x? (Choose two.)
A. IE9300 Series

B. IE3400 and IE3300-10G

C. IE3200 and IE3300-1G

D. IE4010 and IE5000

E. IE2000 and IE4000

Correct Answer: BC

QUESTION 4
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Where is cellular usage found in the IoT Operations Dashboard device menu?
A. Monitoring

B. Interface

C. Troubleshooting

D. Summary

Correct Answer: A

QUESTION 5

How are the power inputs labeled A and B of IE3400 used?

A. Both inputs are connected, and the power budget is the sum of both power inputs.

B. Both inputs are connected: only one is active, and the other is on standby.
C. It can only wire one of the power inputs.
D. Both inputs are connected and used to daisy chain to power another switch.

Correct Answer: B
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